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S Are you ready?
Ready for what?

s Are you ready?
< We're ready to rock!



Intro

& How do you want to rock today?
We’re ready to rock in a 2s kind of way!

WO000000000000aaaaa
aaaaaaaahhhhhhh!!l



The 2s

o5 2 tO the 4
To the 6
To the 8.



The 2s

Look to the side

High five a mate!



The 2s

5,10 to the 12,

14, 16.



The 2s

# Rock like a Boss.

Roll like Sprlngsteen



The 2s
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22, 24,
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The 2s

Now we're vibin’

Leave ‘em wanting
more...



(On the next slide,
you've got all the lyrics
IN one place In case
youd prefer to see it all
together.)



Intro The 2s

O Are you ready? 2 to the 4 to the 6 to the 8.
Ready for what? Look to the side,
. High five a mate!
AT e EERLTE 10 to the 12 to the 14, 16.

’ | .
We're ready to rock! Rock like a Boss.

Roll lik ringsteen!
O How do you want to rock today? 0 2 S{lig
We're ready to rock in a 2s kind of way! 18, 20, 22, 24.

Now we’re vibin’
Wooo00o0000aaaaaaahhh! Leave ‘em wanting

more...




2 4 6 8 10 12 14 16 18 20 22 24



Easy because it is
only one lot of 2!

2 4 6 8 10 12 14 16 18 20 22 24

Easy because it
is 2 made ten
times bigger.



x2 4 6 &8 10 12 14 16 18 e 22 24



Easy because itis double 2! It is
also a special number because a "
P Easy because it is half

number multiplied by itself is of 20 (2x10) and we

called a square number (2x2).
G 2 can use our x5 tables.

x2 4 6 &8 10 12 14 16 18 e 22 24






Easy because it is 2
less than 20!

Ix2 2x2 6 &8 5x 12 14 16 18 w02 22 24

Easy because 2x2 = 4so 2x4 = double 2x2.

Easy because it is only
2 more than 20!






Easy because 2x4 = 8 and x6 = double 4x6.

1x2 2x2 6 4x2 5x2 12 14 16 92 wox 1x2 24

Easy because it is made of 1x2 (2) and 2x2
(4). 2+4=6 (1x4) +(2x4) =6






Easy because 3x2 = 6 and 6x2 = double 3x2.

1x2 2x2 3x2 4x2 5x2 12 14 8x2 9x2 1wx2 11x2 24

Easy because it is the
biggest number but is
also made of 2x10
(20) and 2x2 (4)

2044 =24
(2x10)+(2x2) = 24






Easy because it is our
odd one out. 7x2 = 14
isour only one left!







Are you ready?

Random times table time.



10 x 2



1 X?2Z












4 X 2















12 X2



[ X2



Can C}/o_u write our the fact family for a fact in the
TWO times tables?

1x2 2x2 3x2 4x2 5x2 6x2 7x2 8x2 9x2 10x2 11x2 12x2

E.G 10x 2 =20 2x10 =20
20+10=2 20+2=10
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